
SAP ABAP table J_1IEXCACC {Excise Account Assignment table}

J_1IEXCACC

MANDT [CLNT (3)]

J_1IEXGRP [CHAR (2)]

J_1ITRNTYP [CHAR (4)]

J_1IBUKRS [CHAR (4)]

J_1ISTRTYP [CHAR (2)]

J_1IKTOPL [CHAR (4)]

J_1IRG23AB [CHAR (10)]

J_1IRG23AA [CHAR (10)]

J_1IRG23AS [CHAR (10)]

J_1IRG23CB [CHAR (10)]

J_1IRG23CA [CHAR (10)]

J_1IRG23CS [CHAR (10)]

J_1IOFFSET [CHAR (10)]

J_1ICLEAR [CHAR (10)]

J_1IPLABED [CHAR (10)]

J_1IPLAAED [CHAR (10)]

J_1IPLASED [CHAR (10)]

J_1IPLACES [CHAR (10)]

J_1IONHOLD [CHAR (10)]

J_1IMSUSP [CHAR (10)]

J_1IPONHLD [CHAR (10)]

J_1IREVERS [CHAR (10)]

J_1IRG23AN [CHAR (10)]

J_1IRG23CN [CHAR (10)]

J_1IPLANCCD [CHAR (10)]

J_1IRG23AE [CHAR (10)]

J_1IRG23CE [CHAR (10)]

J_1IPLAECS [CHAR (10)]

J_1IEXGRPS

MANDT [CLNT (3)]

J_1IEXCGRP [CHAR (2)]

J_1IWERKS [CHAR (4)]

 J_1IEXCACC-J_1IEXGRP = J_1IEXGRPS-J_1IEXCGRP 

0..N

0..N

J_1ITRAN

MANDT [CLNT (3)]

J_1ITRNTYP [CHAR (4)]

 J_1IEXCACC-J_1ITRNTYP = J_1ITRAN-J_1ITRNTYP 

0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 J_1IEXCACC-J_1ICLEAR = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IMSUSP = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IOFFSET = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IONHOLD = SKA1-SAKNR 

0..N

0..N
 J_1IEXCACC-J_1IPLAAED = SKA1-SAKNR 

0..N

0..N  J_1IEXCACC-J_1IPLABED = SKA1-SAKNR 

0..N

0..N  J_1IEXCACC-J_1IPLACES = SKA1-SAKNR 

0..N

0..N  J_1IEXCACC-J_1IPLAECS = SKA1-SAKNR 

0..N

0..N  J_1IEXCACC-J_1IPLANCCD = SKA1-SAKNR 

0..N
0..N

 J_1IEXCACC-J_1IPLASED = SKA1-SAKNR 

0..N0..N
 J_1IEXCACC-J_1IPONHLD = SKA1-SAKNR 

0..N
0..N  J_1IEXCACC-J_1IREVERS = SKA1-SAKNR 0..N
0..N

 J_1IEXCACC-J_1IRG23AA = SKA1-SAKNR 0..N
0..N

 J_1IEXCACC-J_1IRG23AB = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23AE = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23AN = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23AS = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23CA = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23CB = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23CE = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23CN = SKA1-SAKNR 

0..N

0..N

 J_1IEXCACC-J_1IRG23CS = SKA1-SAKNR 

0..N

0..N

T000

MANDT [CLNT (3)] J_1IEXCACC-MANDT = T000-MANDT 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 J_1IEXCACC-J_1IBUKRS = T001-BUKRS 

0..N

0..N

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 J_1IEXCACC-J_1IKTOPL = T004-KTOPL 

0..N

0..N


